Proof: Use use the second definition.
(1).N(i) = N₁(0) + N₂(0).
(2) independent increments
$$S_1 \leq S_2 \leq t_1 \leq t_2$$

 $+ \begin{vmatrix} N_1(S_2) - N_1(S_1) & indep of N_1(t_2) - N_1(t_1) \\ N_2(S_2) - N_2(S_1) & indep of N_2(t_2) - N_2(t_1) \\ => N(S_2) - N(S_1) & indep of N_2(t_2) - N(t_1) \end{vmatrix}$
(3). $P(N(t+t_1) - N(t)) = 1 = P(N_1(t+t_1) - N_1(t)) = (S_1 N_2(t+t_1) - N_2(t)) = 0)$
 $+ P(N_1(t+t_1) - N_1(t_1)) = O(N_2(t+t_1) - N_2(t_2)) = 1)$
indep of N_1 and N_2
 $\leq P(N_1(t+t_1) - N_1(t_1)) = (P(N_2(t+t_1) - N_2(t_2))) = 0)$
 $+ P(N_1(t+t_1) - N_1(t_1)) = (P(N_2(t+t_1) - N_2(t_2))) = 0)$
 $+ P(N_1(t+t_1) - N_1(t_1)) = (P(N_2(t+t_1) - N_2(t_2))) = 0)$
 $+ P(N_1(t+t_1) - N_1(t_2)) = (N_1(t+t_1) - N_2(t_2)) = 0)$
 $+ P(N_1(t+t_1) - N_1(t_2)) = (N_1(t+t_1) - N_2(t_2)) = 0)$
 $= (\lambda_1 + o(h_1))(1 - \lambda_2 h + o(h_1)) + (\lambda_2 h + o(h_1))(1 - \lambda_1 h + o(h_1))$
 $= (\lambda_1 + \lambda_2)h + o(h_1) \cdot V$
(4) Sinuilarly, show (exercise) that $P(N(t+t_1) - N(t+1)) = 0$

Example: Students came to class by either using door 1 or door 2.



Suppose the entrance processes XIt) and I(t) for the 2 doors are independent and Poisson (unlikely in reality...) Find: (a) P(1st 2 students in class took door 1) (b) Distribution of total # of students by time t. (c). Distribution of total # of students by time t who took door 1, given that (X+Y)(t)=n.

$$\frac{\text{dolution}:}{(a). P(1^{st} \text{ student took door } 1) = \frac{1}{2} = P(\text{first arrival time of } X < \text{first arrival time of } Y) = \frac{\lambda}{\lambda + \mu}.$$

$$\frac{P(1^{st} \text{ student took of } Y)}{P(1^{st} \text{ next arrival of } Y)} = \frac{\lambda}{\lambda + \mu}.$$
By the no memory property (if first arrival of X is $T_1 = b$, then starting at time t, next arrival of X is $Exp(\lambda)$ and next arrival of Y is $Exp(\mu)$)
$$= P(2^{nd} \text{ student took door } 1) = \frac{\lambda}{\lambda + \mu}.$$

$$= P(1^{st} \text{ two students form door } 1) - (\frac{\lambda}{\lambda + \mu})^{2}.$$

(b).
$$X+Y$$
 is a Poisson process of rate $\lambda + \mu$.
=> # students by fince $t \sim Poisson((\lambda + \mu)t)$
(c). $P(X(t) = \kappa | X(t) + Y(t) = n)$
= $\frac{P(X(t) = \kappa, X(t) + Y(t) = n)}{P(X(t) + Y(t) = n)} = \frac{P(X(t) = \kappa, Y(t) - n-\kappa)}{P(X(t) + Y(t) = n)}$
= $\frac{P(X(t) - \kappa) P(Y(t) = n-\kappa)}{P(X(t) + Y(t) = n)} = \frac{(\lambda + \kappa)^{n-\kappa} e^{-\mu t} n!}{(n-\kappa)!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(n-\kappa)!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\frac{\lambda^{\kappa} + \kappa}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!} = \frac{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e^{-\mu t} e^{-\mu t} n!}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} n!}$
= $\binom{n}{(\lambda + \mu)^{n-\kappa} e^{-\mu t} e$